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1. AT—42 2022458 2/
RERCH BERTH DHERIH &t
2,072.16 1,440.96 2093 3,534.05
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2. BET—H
g PRI R B E EEFRAOBE —BIERFREE
154F 254F 154F 254F 154F 254F 154F 2514F
t t °C °C °C °C ppm ppm
123t =800°C FHL1200°CLT =100ppm
1 108.56 912 170 5
2 104.74 911 170 5
3 107.99 909 170 5
4 106.91 915 170 6
5 100.24 917 170 6
6 102.75 917 170 6
7 102.32 918 170 6
8 102.67 918 170 6
9 100.12 918 170 6
10 99.60 915 170 6
11 105.38 913 170 6
12 104.76 916 170 6
13 100.18 917 170 6
14 70.95 106.70 910 165 6
15 102.74 102.65 920 914 160 160 4 5
16 99.16 101.89 918 909 160 160 4 5
17 102.65 105.43 914 905 160 160 4 4
18 112.41 111.96 919 908 160 160 4 5
19 103.24 105.39 916 910 160 160 4 5
20 104.45 106.36 918 911 160 160 5 5
21 102.13 102.72 920 911 160 160 4 5
22 106.76 107.34 917 909 160 160 5 6
23 102.55 100.31 918 909 160 160 5 6
24 104.19 107.06 917 902 160 160 6 6
25 105.25 104.40 915 908 160 160 6 5
26 107.34 106.24 919 911 160 160 6 6
27 99.98 104.18 920 917 161 161 5 5
28 101.38 101.21 920 912 160 160 5 4
29 99.77 102.45 921 910 160 160 5 5
30 105.28 107.32 914 899 160 160 4 4
31 116.99 115.26 909 899 160 160 5 4
=X 1,847.22 3,245.09
2R A E 5,092.31
iy 104.49 104.68 917 911 160 164 5 5




